Question 1 (25 marks)

1
When Conor rings Ciara’s house, the probability that Ciara answers the phone is 3

(a) Conor rings Ciara’s house once every day for 7 consecutive days. Find the probability that
she will answer the phone on the 2", 4t and 6" days but not on the other days.

(b) Find the probability that she will answer the phone for the 4t time on the 7t day.

(c) Conorrings her house once every day for n days. Write, in terms of n, the probability that
Ciara will answer the phone at least once.

(d) Find the minimum value of n for which the probability that Ciara will answer the phone at
least once is greater than 99%.
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